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* Check whether a vector P of length N
represents any permutation of A,,.
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* Produces all the permutations of A,.
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* How many permutations of A, can be
obtained by a stack?
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* Checks whether a given permutation can be
obtained by a stack.
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(3,5,7,6,8,4,9,2,10,1)

push pop

N/

v / - top
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* |f the given permutation cannot be obtained
by a stack, print the series of operations on
two stacks that will generate it.

push pop push pop

N/ N/

v / top v / top
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— Imperative

— Functional

— Logic

— Object-oriented
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